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Iris Flower 7 — &t v b |d Python THAAAEE  » Ronald Fisher, 19364
In [1]: import seaborn ° 3*%@7?%@91‘?6%&@\
NIER A DR E RS ZET

e e AlLTc7—5FtY b
In [3]: print(iris

sepal length sepal width petal length petal width species Ir|s Setosa

In [2]: iris = seaborn.load dataset('iris')

(4] 5.1 3.5 1.4 9.2 setosa

1 4.9 3.0 1.4 0.2 setosa ! 1

. o2 et 1MS Versicolor

3 4.6 3.1 1.5 9.2 setosa . . . .

4 5.0 3.6 1.4 0.2 cetosa LIS VIrginiCa

145 6.7 3.0 5.2 2.3 virginica e 5—AF 50 x 3 FE¥E
146 6.3 2.5 5.0 1.9 wvirginica

147 6.5 3.0 5.2 2.0 virginica

148 6.2 3.4 5.4 2.3 virginica

149 5.9 3.0 5.1 1.8 virginica

[15@ rows X 5 columns]

In [4]:
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